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PHILOSOPHY
Paper 11

Time Allowed : 2 Hours] [Maximum Marks : 200

Note :— This question paper contains of one hundred (100) multiple choice

questions. Each question carries two (2) marks. Attempt all questions.

1. - The Purva-mimamsakas believe in which one of the following ?
(A) Paratah-Pramanyavada and Paratah-AprEma{zyav:cfda
* (B) Svatah Pramanyavade and Parateh-Apramanyavada
(C) Paratah-Pram‘&pyavEda and Svatah Apramanyavada
(D) Svatah Pramt'i)}yav‘&da and Svatah ApramE{zyavb'da

2. Given below are two statements labelled Assertion (A) and Reason (R). Examine
both with respect to the Jainism and select the correct code :

Assertion (A) : The Mukta Jiva are the released pure souls.

Reason (R) : Because it is possessed of anantadarsane, anantajnana,
anantavirye and anantasukha.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) ére true but (R) is not the correct explanation of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

3. Regarding the concept of Rna as enshrined in the Vedas, which of the following
is not a part of it : '

(A) Deva Rna (B) Pitr Rna
(©) Rsi Rna (D) Manushya Rna
T.BC. : 20/18/SET—II 2
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4, Which one of the Khyativada is accepted by Nyéya-Vais’e§ika system ?
(A) Anyathakhyati (B) Akhyati
(C) Atmakhyati ; (D) Asatkhyati

5. Which one of the following Vedantic systems advocates avikrtaparinamavada ?

(A) Advaita (B) Visishtadvaita
(C) Dvaita (D) Shuddhadvaita
6. Consider the following statements with respect to Samkhya and mark the

incorrect statement :

(A) All experience is full of sorrow

(B) The suffering will continue as long as the éitta and purusa are associated
(C) In the state of kevala, all sarpsk&ra and avidya is uprooted

(D) The state of kevala implies non-distinction of prakrti and purusa.

e Given below are two statements labelled Assertion (A) and Reason (R). Examine

both with respect to the Yoga and select the correct code :
Assertion (A) : Yoga is a theistic system.
Reason (R) : God is tile creator, preserver and destroyer of the world.

| Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true
T.B.C. : 20/18/SET—II 4
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8. Choose the correct order of the stages of life according to Pratityasamutpada

of Buddhism :

(A) Bhava, Vedana, Tanha and Upadana
(B) Bh'éva,.Tanha, \;edanE and Upadana
(C) Bhava, Upadana, Tanha and Vedana
@) Bhiva, Vedans, Upsdana and Tanka

9.  Who among the following can be ascribed the view that the forms are the

thoughts of God, who looks into his mind in order to create the

universe ?
(A) St. Augustine (B) Aristotle
(C) St. Thomas Aquinas (D) Plato

10. Parmenides believes that the nature of reality is :
(A) Unified only
(B) Unified and unchanging only
(C) Singular, unified and changing
(D) Unified, unchanging and singular
11.  According to Democritus :
(A) Atoms differ actually in quantity but only apparently in quality
(B) Atoms different in quality where is difference in quantity is only apparent
(C) Atoms differ neither in quality nor in quantity
(D) Atoms actually differ both in quality and quantity

T.B.C. : 20/18/SET—II 6
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12.  Select the incorrect statement with reference to the Vedic sacrifice from the

following :
(A) The sacrifice is énjoined by the Veda

(B) The Vedic Gods are invoked in the sacrifice, but they are only instruments

for the proper completion of the sacrifice

(C) Itisnot the case that, the result of the sacrifice is produced by an inherent

potency—the apurva.

(D) Out of the many kinds of sacrifices enjoined, one among them has its

aims the fulfilment of the desire of the person performing the sacrifice
13.  Berkeley proposed that there are no material objects because :
(A) they are unknowable
(B) they are not just ideas
(C) they are just ideas
(D) the idea we have about them are caused by their representations.
14. Accoi'ding to Locke, the secondary qualities of object are those which :
(A) Belong to our experience of objects but not objects themselves
(B) Do not figure in. the list of defining properties of objects
(C) Are not of primary importance in understanding objects
(D) Occasionally but actually belong to the object
15. Things like individual mind or body are treated by Spinoza as :
(A) Infinite Nature (B) Infinite Attributes

(C) Infinite Modes (D) Finite Modes
T.B.C. : 20/18/SET—II 8
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16. Purushartha literally means :
(A) Material aim of human being (B) Spiritual upliftment
(C) Salvation | (D) Purposé of human being
17. Kama in Indian Ethi.cs. refers to :
(A) Work , (B) Desire
(C) Gluttony (D) Need
18, Which one of the following is not included in Va;fnadharma .2
(A) Brahmins (B) Kshatriyas
(C) Sanyasis (D) Shudras
-19. Which one of the following is not included in Ashram dharma ?
(A) Grihastha (B) Vanaprastha
(C) Vaishsra D) Bréhmacharya
20. Nishkama Karma means :
(A) Action without desire of fruit
(B) Action for desire
(C) Action with deéire for salvation

(D) Action for spiritual upliftment

21.  Which one of the following is not included in the concept of Nishkama

Karma ?
(A) Loksamgraha (B) Sthitaprajna
(C) Svadharma (D) Varnashramdharma

T.B.C. : 20/18/SET—II .10
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22. Who propounded Astanga yoga ?

() Gavtama Buddha

(C) Shankaracharya

(B) Kapila

(D) Patanjali

23.  Match the following and select the correct answer from the codes given below :

List-I

(@) Astanga Yoga

(b) Panchasheel

(¢) Panchamahavrata

(d) Nishkama Karma

Codes :

(@)
4 3
-(B) 3
(C) 2
D) @

©®)
2)
(1
(1
(2)

(c)
(1)
(2)
3)

@)

@)

4)

(4)
4) .

(4)

(1)
(2)
(3)
(4)

List-II
Buddhism
Patanjali
Jainism

Bhagvadgita

24.  Find out the correct combination of Tri-ratna according to Jainism ?

(A) Right faith, Right knowledge, Right conduct

(B) Right faith, Right living, Right conduct

(C) Right concentration, Right knowledge, Right conduct

(D) Right faith, Right knowledge, Right exercise

T.B.C. : 20/18/SET—II
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25.  Which one of the following is not included in the Buddhist concept of Brahma

Vihara ?
(A) Maitri (B) Upasana
(C) Karuna (D) Mudita

26. Find out the correct conbination of Jaina concept of Panchmahavrata :
(A) Ahimsa, Satya, Asatya, Brahmacharya, Aparigraha
(B) Ahimsa, Sunya, Asteya, Brahmacharya, Aparigraha
(C) Ahimsa, Satya, Asteya, Brahmacharya, Satyagraha
(D) Ahimsa, Satya, Asteya, Brahmacharya, Aparigraha
27.  Which one of the following is not true with reference to Eudaimonia ?
(A) It is final | (B) It is an activity
(C) It is self sufficient D) It is teﬁporary
28. What according to Plato is not a cardinal virtue ?
(A) Wisdom (B) Courage |
(C) Temperance ,. (D) Knowledge

29.- Which one of the following statements is true with reference to the concept

of rights ?

(A) Rights are moral claims of the individual

(B) Rights and duties are not co-related

(C) Rights are not moral claims of thé individuals

(D) Right does not reside in an individual

T.B.C. : 20/18/SET—II 14
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30.

31.

32.

33.

34.

Which one of the following is not correct for Detterent theory of

punishment ? '

(A) The aim of punishment is to prevent others from committing similar

offences
(B) This theory justifies capital punishment
(C) This theory does not justify capital punishment

(D) A criminal is punished to be made an example to prevent others

Which one of the following correctly represents categorical imperative ?

(A) Itis an e'nd in itself (B) It is a means
(C) It is positive (D) It is not definite
Who is an exponent of ‘Qualitative Altruistic Hedonism’ ?
(A) JS Ml - (B) Bentham.

(C) Sidgwick " (D) Butler

Who among the follovying has said, “Each is to count for one, and no one

for more than one” ?
(A) J.S. Mill (B) Bentham

(C) Sidgwick (D) Herbert Spencer

-~ Who among the following said, “It is better to be a human being dissatisfied

than a pig satisfied” ?
(A) Bentham (B) Butler

(©) J.S. Mill D) Sidgwick

T.B.C. : 20/18/SET—II 16
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35.

36.

a7,

38.

39.

What accroding to Kant is correct for ‘Goodwill’ ?

(A) Only relatively.good (B) Good but partially

(C) Only absolutely good (D) Emotional good

Who among the following is the supporter of ‘Evolutionary Hedonism’ ?
(A) Herbert Spencer (B) Butler

(C) Bentham (D) J.S. Mill

According to Deendayal Upadhyaya the attribute of intellect in the human-

kind corresponds to which of the following moral duties ?
(A) Dharma (B) Artha
(C) Kama (D) Moksa

Who among the following maintained that humans are Divinely created and

evolved from matter ?
(A) Mohammad Igbal (B) Tagore
(C) Gandhi (D) Narayana Guru

The label ‘Monistic Idealism’ is used to refer to thoughts of which of the following

thinkers ?

(A) K.C. Bhattacharyya (B) Vivekananda
(C) Sri Aurobindo (D) Radhakrishnan

T.B.C. : 20/18/SET—II 18
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40.

41.

42.

43.

44.

Who among the following believes that knowledge has both an intrinsic and

extrinsic worth/value ?

(A) Radhakrishnan (B) Sri Aurobindo

(C) Swami Vivekananda | (D) Jiddu Krishnamurthy

Which one of the following is not one of the main theme of ‘Tirukkural” ?
(A) Marriage and love (B) Secret love

©) Family, state and citizenship (D) Arguments for the existence of God

Who among the following advocates aparigrah as an ethical value ?

(A) K.C. Bhattacharyya (B) M.K. Gandhi

(C) M.N. Roy (D) Jyotiba Phule

Who among the follwoing maintains that absolute has to be of the nature

of spirit alone ?

(A) Jiddu Krishnamurthy (B) Vivekananda

(C) Radhakrishnan - (D) Sri Aurobindo

Which of the following motto was given by Shri Narayana Guru ?
(A) One caste and one religion and collective liberation

(B) One religion, one God and one moksa

(C) One caste, one religion and one moksa

(D) One caste, one religion and one God

T.B.C. : 20/18/SET—II 20
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45.

46.

47.

48.

For Jiddu Krishnamurthy self-knowledge is equivalent to :
(A) Knowing oneself as pure unrelated consciousness

(B) Knowing oneself ‘as an agent of one’s liberation

(C) Discovering oneself in relation

(D) Solipsism

Who among the following thinkers rejected the conception of philosophy as

a construction of a world view ?

(A) K.C. Bhattacharyya (B) MK. Gandhi

(C) M.N. Roy (D) Jyotiba Phule

What is true according to Wittgenstein ?
(I)  Meaning is its use

(II) A thought is a proposition with sense
(IIT) Thw world divides into facts

(IV) The object is complex

Select the correct code from below :

Code :
(A) (D only ' (B) (D, I) only
(C) (), (II), (IID) only D) (), aD, (1) and IV)

For Frege ‘sense’ is :

(A) That which the sign designates

(B) The meaning of the sign

(C) That wherein the mode of presentation is contained

(D) Proper name
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46.

47.
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() g e § fa A o
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T

(A) I %ad ' (B) I, I %o

(C) I, II, III et O) I II, III &R IV
T % oER ‘ad’ § o

(A) S ¥@a W@ w0 ¥

(B) H&d w1

(©) fowdl vegfa o e wfed ©

(D) wAffar=S T4
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49.

50.

o1.

52.

53.

The view that the essence of the phychical is situated in consciousness is

asserted by :
(A) Camus (B) Sartre
(C) Derrida (D) Zizek

The famous statement “man is a useless passion” is attributed to :

(A) Camus (B) Sartre.

- (C) Merleau-Ponty (D) Kojeve

Husserl looks at philosophy as :
(A) Psychologism (B) Knowledge of existence of objects
(C) Knowledge of essences (D) Naturalism

The view that the givenness of the subject is limited to only the correlates

of consciousness is a philosophical posih'on attributed to :
(A) Hegel (B) Herder

(C) Husserl _- (D) Habermas
Absolute is proposed by Hegel as :

(A) The Subject

(B) The Substance

(C) Neither Subject nor the Substance

(D) Both the Subject and the Substance

T.B.C. : 20/18/SET—II 24
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(A) &M ' (B) G
©) =Re D) o=
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() TR B) T # e w1 T
(C) WX W M (D) YR

52. %ﬁwﬁﬁwrﬂmmm%wﬁzﬁwm%%mﬁﬁmm
Haiftg ¥ o
A) & (B) &KX
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A) fowz
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(D) fawa @ik wered SHi
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54.

" 55,

56. -

57.

Who among the following maintains that the object of any object as experience

must be clearly distinguished from the experience itself :
(A) Hegel (B) Hume
(C) G.E. Moore (D) Bradley

According to Moore, “I am seeing something now” is an example of which

of the following :
(A) Physical Fact (B) Mental Fact‘,
(C). Extra-mental Fact (D) Linguistic Fact

The view that the world consists in a plurality of independent and discrete

entities, which by coming together form facts is called :
(A) Logical Atomism (B) Fact-value distinction
(C) Naive Realism (D) Representative Realism

Identify the correct combination of 6 evils that Narada mentions to Yudhishtira

in the Mahabharata.
(A) Sleep, anger, fear, weakness of mind, idleness and procrastination

(B) Atheism, untruthfulness, anger, carelessness, taking counsel of one man

only and un-accomplishment of beneficial projects.

(C) Anger, undertaking anything without reflection, idleness, procrastination,

restlessness of mind and weakness of mind.

(D) Sleep, anger, idleness, procrastination, un-accomplishment of beneﬁcial

project and consulation with person ignorant of the science of artha.

T.B.C. : 20/18/SET—II : 26
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55.

56.
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= 4 @ =1 Twif 78 T & fF e d v o @ ova @ ot At
? 7

(&) T | (B) W

(C) i3 . D) WA

T F IR “H ool 7 @ w e d Q frww s ¥ 2
(A) dif® e (B) #Rf&H q%A

(C) -wrfgs gea (D) T e

7 four 6 woR @ qw g axgel 1 agaa @ ffife ¥, <) wfiwfan 9
e w1 fim st &) = 8§ ¥ Fedm § 2

(A) dfe® IvER (B) 7A-T&g 9

(C) W& AR (D) wftfrercds qemear

TR § ARE g giufeR # a6 I 1 WE gyeay fafed wifew
A) fm1, #y, 3, TAfes Added, sedvm o faea |

(B) fritvatar, faeamarea, iy, SrE@uH, Fad TF =i gr-1 WEy o 3R anserEt
st woSqe

(C) Y, faml do-ung fFt o™ B =, swdva, faca, AAfas s 3R
i e

D) 0, =y, srewrvam, facia, Arvert demel #1 el 0 ok o @ fagm
3} sFfvg =fm ¥ Tl |
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58.

59.

60.

Match List I with List II in the context of the Vedas and mark the correct
code :

List-I : List-II
(i) Mantra (@) intensely philosophical and spiritual
(if) Brahmana C®) hymns addressed to the Gods and Goddesses
(iti) Aranyaka (¢) collection rules and regulations of rituals
(iv) Upanisad (d) transition from ritualistic to philosophical
Code :

@ @ @) G)

4) @ ®) @ @
B) @ @ ®) (@)
€ @ @ b @
D) ® @ @ @

Which one of the following is the causal potency that propels the man to
perform the actions enjoined by the Veda ?

(A) Arthavada (B) Bhavana
(C) Nisedha (D) Vidhi

Consider the following statements as per the theory of Satkaryavada upheld
by Samkhya and mark the correct code : '

@) The full grown oak tree is contained in its seed.
(i) The curd is contained in the milk in an un-manifest form.

(1) The paper is a new production, something that is not contained in the
pulp-wood. '

Code :
(A) Only (@) is true (B) Only (i) and (i) are true
(C) Only (1) is true (D) Only (i) and (iii) are true
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61.  According to Mahabharata rajadharma consists of the following :
(@) Rights of king

(ii) Duties of king |

() Rights as well as duties with reference to administration
(iv) Qualities of a king

Select the correct code from below :

(A) (iii) only (B) @), (@), (i) and (iv)

(C) (@) and (iv) only D) (@), @) and (iv) only

62. Which one of the following is not a feature of democratic politic

system ?
(A) The sui)remacy of the will of the people
(B) Adult franchise
(C) Dependent judiciz;ry
(D) Periodic and free elections
63.  According to Tagore, the strength of foreign government lies in :
(A) The Military power (B) The Political power
(C) People’s ignorance (D) The Foreign policies

T.B.C. : 20/18/SET—II 30
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64.

65.

66.

67.

68.

Which one of the following is not presupposed by Gandhi in his idea of
Satyagraha ?

(A) Contingency of evil in man

(B) Contingency of goodness in man

(C) Identity of truth and God

(D) Eventually triumph of non-violence

Which of the following is not an organ of state according to Kautilya ?
(4) Danda | (B) Amatya

(C) - Swami (D) Varna system

The philosopher who espoused an intrinsic link between law and morality
is :

(A) Austin | (B) Dworkin

(©) Mill (D) Rawls

The distinction between ‘present-at-hand’ and ‘ready-to-hand’ in contemporary
philosophy is owed to :

(A) Sartre (B) Nietzsche
(C) Horkheimer P (D) Heidegger

Which of the following is not a reason why Utilitarianism offers a poor basis

for an environmental ethics ?

(A) Only happiness matters

(B) It cares only for sentient beings

(C) Non-sentient world only has instrumental value

(D) Intrinsic worth of environment
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69.

70.

gl

72.

Euthanasia does not refer to :
(A) Mercy killing (B) Mercy death
(C) Allowing someone to die (D) Killing oneself

The idea that ecosystems as a whole have intrinsic moral worth is

credited to :
(A) Rawls (B) Sen
(C) Leopold (D) Dworkin

Which of the following is NOT an argument in favor of justice in Plato’s
Republic ?

(A) The just man is wise and good, and the unjust man is ignorant and

bad
(B) Injustice produces internal disharmony which prevents effective actions
(C) The just person lives a happier life than the unjust person
(D) All men are by nature unjust, they can be trained to be just

Which one of the following combinations of theory of error and its advocate

is wrongly matched ?

(A) Satkhyati-Ramanuja

(B) Anirvacaniya khyati-Shankara
(C) Anyathakhyati-Prabhakara

(D) Asatkhyati-Madhyamika Buddhism
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73.

74.

75.

76.

According to Rawls the legitimacy of a law is mainly contingent upon :
(A) Its justification being impossible to reasonably reject

(B) Willful acceptal;ce by the people including law breakers

(C) Its acceptance by the court and the governnmient

(D) Its legitimacy for the children and women

According to Locke State of Nature is a state without :

(A) Freedom from social law

(B) Liberty to conduct one’s life as one best sees fit

(C) Morality

(D) Lack of civil power to whom men can appeal

According to Social Feminism the main reason for women’s subjugation to

men is :

(A) Women’s financial dependence upon men

(B) Set of customary and legal constraints ‘,

(C) Patriarchal gendef relations

(D) Male control over women’s sexuality and reproductive functions

Which of the following thinkers believes that the State of Nature was completely
intolerable, and so rational men would be willing to submit themselves even

to absolute authority in order to escape it ?
(A) John Locke (B) Thomas Hobbes

(C) Rousseau (D) Plato
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3.

74.

75.

76.

Ieq F TR fafy =1 Jua fr= #F § frw w foRk & ® 2

(A) ﬁwmﬁmmﬁmaﬁmﬁl

(B) @nfi f FFA @Y o wimfea ¥, & g Ueed w9 A
(C) AT dY91 ThR g Al

(D) we=d qo AR % o swet Qua

W B IR VHh @ oy # fre d ¥ fewm Feam At @2
(A) WS & ¥ @

(B) o S A W AW HA IH WE H wawd ql

V(C)ﬁﬁm

D) T A TR o R T R e
AR TR B SER A0 & S B T wR R
A) T F N W afE FRa |

(B) el dun fafy smaredi w1 W

(©) fre S

(D) ?ﬁaﬁﬁmwwmﬁmwmﬁw

fre § @ SF ol 39 T § favar tea § 6yl @ o o w9 9
et o aun TefeT gfegR T SR I o AU W iR @ fd e
N IR T2

(A) W e (B) 9fvg

€) & D) =

T.B.C. : 20/18/SET—II 37 : P.1.0.



A b

78.

9.

80.

81.

The essay titled Discourse on the Origin and Foundatioﬁs of Inequality Among

Men is written by :
(A) John Locke (B) Thomas Hobbes
(C) Rousseau (D) Plato

Which of the following is not true of definition of liberty according to

Berlin ?

(A) Liberty is the absence of constraints on the agent imposed by other people
(B) Liberty is the ability and opportunity to pursue and achieve willed goals
(C) Liberty represents aggregate of rights prox}ided by the sovereign

(D) Liberty is autonomy or self-rule

Whose theory of justice among the following thinkers primarily facuses on

Equality of resources ?
(A) -Dworkin (B) Rawls
(C) Robert Nozick (D) Amartya Sen

According to which political view politics should be concerned with mainly

promoting the social attachments crucial to our sense of well-being and

respect ?
(A) Communitarianism (B) Classical Liberalism
(C) Modern Liberalism (D) Communism

A Denotation is :
(A) An expression of emotion (B) A definition of a word

(C) A definition of term (D) A definition of subject term

T.B.C. : 20/18/SET—II . 38
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82.

83.

85.

86.

817.

What is a proposition in traditional logic ?

(A) Interrogative (B) Informations

(C) Exclamatory ' (D) Emotions

Which one is not a categorjcal proposition ?

(A) Universal affirmative (B) Universal negative

(C) Particular negative (D) Particular executive

Which term(s) is/are distributed in ‘E’ Proposition ?

(A) Subject term (B) Subject and Predicate terms
(C) Predicate term (D) Neither subject nor predicate term
How many moods are possible out of four categorical propositions ?
(A) 256 (B) 234

© 250 D) 64

Which fallacy is committed, If middle term is not distributed in both the

premisses’.
(A) Illicit middle term (B) Fallacy of four term
(C) Undistributed middle term (D) Illicit major term

Name the relation between ‘A’ and ‘E’ propositions in traditional square of

opposition.
(A) Sub-contrary (B) Contrary
(C) Sub-alternation (D) Contradictory
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88.  Which symbol is used for ‘If-then’ ?
(A)

n

B) o
©€) v ‘ D) .
89. Which one of the following is equivalent to ~ (P . Q) ?
(A) ~PvQ _ B) ~Pv-~Q
C) P=~Q D) ~P>Q
90.  Which fallacy is committed in the following example :
‘Exactly how did you feel when you murdered your wife.” ?
(A) Fallacy of irrelevent conclusion
(B) Fallacy of equivocation
(C) Fallacy of false cause
(D) Complex question

91.  That the law has to be followed independent of all moral criteria—is a position

attributed to :
(A) Legal Naturalism‘ (B) Legal Hedonism
(C) Legal Positivism (D) Legal Intuitionism

92. Dworkin is against designing of human beings by other human beings
because :

(A) We should not take into our hands what is god’s prerogative
(B) It shifts the line between chance and choice
(C) It is against religion

(D) It violates the law of evolution
T.B.C. : 20/18/SET—II 42
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93.

o4

95.

96.

From anthropocentric point of view which one of the following is not a correct
reason why non-conscious things such as plants, and ecosystems do not have

intrinsic value ?

(A) They are not li;ling things

(B) They are meant for our enjoyment

(C) Something can have intrinsic worth if and only if it lives consciously
(D) Earth and its resources are divine creations

That two substances can resemble each other completely and just differ only

in number is articulation of the :

(A) Principle of identity

(B) Principle of the identity of indiscernibles
(C) Principle of pre-established harmony

(D) Principle of -contradicti:on

The argument that the very concept of a being that instantiates all the
perfections implies that it exists, is given by which of the following
thinkers ?

(A) St. Augustine (B) Aristotle

(C) St. Thomas Aquinas (D) St. Anselm

Biocentrism is a position that does not advocate :

(A) The good of other living beings as a reason for human action
(B) All living things are part of an interdependent natural system
(C) The attitude of respect for nature

(D) Attitude towards nature only as a resource

T.B.C. : 20/18/SET—II 14
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.97.  There can be no purely extrinsic determinations (eg., coincidental)
characterizations) because all external differences must be based on an internal
differentiation—is a philosophical position held by :

(A) Plato | (B) Descartes
(C) Spinoza (D) Leibniz

98.  Applied Philosophy was initially proposed in 1970 as philosophy that is relevant
to “the important questions of everyday life” by :

(A) Austin (B) Stevenson
(C) Hudson (D) R.M. Hare

99.  Which of the following feminist view is based on view of the world that respects
organic processes, holistic connections, and the merits of intuition and

collaboration ?
(A) Eco-feminism (B) Radical Feminism
(C) Liberal Feminism (D) Socialist Feminism

100. Given below are two statements labelled Assertion (A) and Reason (R). Examine

both with reference to M-fm'irgs'é' system and select the correct code :

Assertion (A) : Vidhivakya and Nisedhavakya of the Veda are injunctions
that give forth the Vedic actions that are to be followed and those that are

to be avoided respectively.-

Reason (R) : Vidhi and Ni§edha are to be adhered to because the MTm’émsakés
consider the Veda to be their final authority.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true and (R) is false‘

(D) (A) is false and (R) is true
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97. YE w9 R w9 ¥ i g oo T @ I (RO T I )
e 9 a7 R NG ¥ W aufd g 898 "a e # feww ¥ 2

A) = , (B) <ew
(C) fegdrn : (D) s

98. TANIeTE evHETE 1970 ¥ fre ¥ ¥ free g oW W e % w9 H
Tefea fee m S fr 3 Sfed % weel we @ Hafed @2

A) s (B) W
/ (C) g (D) ¥M.TH. TR
9. e #f @ PG O 77 GOR @ 90 G gfie W enuifa @ S e wfswans,
THEH S AUl ARG T Tedm ® W H AR hdl A
(A) e TR (B) e TR
(C) TREE! TRIER (D) FHRER] TR

100. R (A) ¥R T (R) TWE @ FuF A9 A W &) dwen vfa & wed |
A & hew Hifee AR W HE B 9FE

afirwem (A) : 3 3 fafrae o fivers 3 Fivemd § < i = l =
A gt & fom W 9 ¥ el fR e e IR

@ (R) : fafy ok fdy =1 wom e o1 § Riifs dimees 98 R S it
v A ¥

e

@A) (A) 3 ®) A @ € M (R), A) F T =ET ¥

B) (A) 3R ®) A w@ ¥ ;R ®), A) N T =W ® L

© (A) W@ ¥ ok (R) TeW B

D) (A) T ¥ 3 (R) & ¥
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